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5 (a) The lengths of the sides of a right-angled triangle are
shown in the diagram and A is the angle indicated.
(i) Write down the value of cos A.

(ii) Hence, find the angle A, correct to the nearest degree.

(b) A circle has centre o and radius 4 cm.
a and b are two points on the circle and

∠ =aob 150o.
(i) Find the area of the circle,

correct to the nearest cm 
2.

(ii) Find the area of the sector aob,
correct to the nearest cm 

2.

(iii) Find the length of the shorter arc ab,
correct to the nearest cm.

(c) In the triangle abc, d is a point on [bc].
| bd | = 5 cm, | ac | = 7 cm,

∠ =dca 82o  and ∠ =cad 50o.
(i) Find | dc |, correct to the

nearest cm.

(ii) Find | ab |, correct to the
nearest cm.

ANSWERS

5 (a) (i) 3
5 (ii) 53o

(b) (i) 50 cm2 (ii) 21 cm2 (iii) 10 cm
(c) (i) 7 cm (ii) 13 cm
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